
PRACTICE SET -1



In the following sentence, five words are given in bold, out of which one word 

is misspelled. Find the misspelled word.
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The third aspect(A) of effective(B) implimentation(C), the 

availability(D) of a trained workforce, is the most 

critical(E).

1. A

2. B

3. C

4. D

5. E
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After examining national experiences(A) elsewhere, clear 

policies(B) can be implemanted(C) that may be 

attractive(D) to foreign(E) universities.

1. A

2. B

3. C

4. D

5. E
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The need for an intelligent(A) counter is required(B) much 

more amid the aggressive(C) asertion(D) of religious 

beliefs by the socio-political hegemon(E).

1. A

2. B

3. C

4. D

5. E
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The question below contains five scattered segments of a sentence. 

Indicate the sequence which correctly assembles the segments and 

completes the sentence.
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A. that similar viruses 

B. can remain

C. there is evidence

D. infectious for days to weeks in

E. untreated wastewater

1. CABDE

2. ABCDE

3. EDABC

4. CBADE

5. EABCD
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A. conventional wastewater treatment processes

B. posed by the SARS-CoV-2

C. virus through 

D. untreated wastewater

E. could reduce the risk

1. CDEBA

2. BACDE

3. AEBCD

4. DEABC

5. ACBDE
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A. infrastructure and health challenges

B. our cities face serious

C. great hope for

D. but they are also places of

E. economic opportunity and development

1. ABCDE

2. ACBDE

3. BEDCA

4. BADCE

5. CDEBA
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A. sometimes there are

B. reaching out to the home isolated patients

C. procedural delays in

D. by designated 

E. health care providers

1. EDCAB

2. ACBDE

3. ABCDE

4. CDEAB

5. None of the above
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A. research shows that

B. could be an even bigger

C. better and smarter urban growth

D. economic opportunity 

E. for India

1. ACBDE

2. CDEAB

3. DABCE

4. DEBAC

5. ACEDB
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In the following passage, some words have been deleted. 

Select the most appropriate option to fill in each blank.
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Kerala Governor Arif Mohammad Khan’s ___(1)___ against the ruling 

Communist Party of India (Marxist) and its functionaries including Chief 

Minister Pinarayi Vijayan marks an escalation in tensions between him and 

the elected government. Until now, Mr. Khan and Mr. Vijayan had 

maintained a functional relationship ___(2)___ their apparent differences. At 

the heart of the current flare-up is Kannur University’s controversial decision 

to ___(3)___ the wife of Mr. Vijayan’s private secretary as an associate 

professor. Mr. Khan, who is also the chancellor of the university, has been 

___(4)___ of the move, but his decision to hold a full-length press conference 

crossed a line and damaged the majesty of his office. In the presser, Mr. Khan 

lashed out at CPI(M) functionaries and ___(5)___ some of their actions as 

being anti-national, nepotism, and anti-social. 
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As an unelected appointee of the Centre, a Governor of a State is expected to 

___(6)___ the popular mandate of the elected government. By going public 

with his views, Mr. Khan has ___(7)___ a situation that should have been 

avoided. The CPI(M) and other parties in the ruling Left Democratic Front 

(LDF), led by Mr. Vijayan have ___(8)___ the Governor’s feelings, making 

the exchange a nasty episode. Among other things, representatives of the 

ruling front have called Mr. Khan an ___(9)___ agent of the Rashtriya

Swayamsevak Sangh (RSS). Mr. Khan could have raised his concerns, 

however valid as he might deem them to be, with Mr. Vijayan rather than 

triggering a completely avoidable public ___(10)___.
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Kerala Governor Arif Mohammad Khan’s ___(1)___ against 

the ruling Communist Party of India (Marxist) and its 

functionaries including Chief Minister Pinarayi Vijayan 

marks an escalation in tensions between him and the elected 

government.

Select the most appropriate option to fill in blank no 1.

1. Worst

2. Thirst

3. Outburst

4. Assert

5. Revert
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Until now, Mr. Khan and Mr. Vijayan had maintained a 

functional relationship ___(2)___ their apparent differences

.

Select the most appropriate option to fill in blank no 2.

1. Respite

2. Excite

3. Petite

4. Delight

5. Despite
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At the heart of the current flare-up is Kannur University’s 

controversial decision to ___(3)___ the wife of Mr. Vijayan’s 

private secretary as an associate professor.

Select the most appropriate option to fill in blank no 3.

1. Appoint

2. Disappoint

3. Constraint

4. Complaint

5. Point
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Mr. Khan, who is also the chancellor of the university, has 

been ___(4)___ of the move, but his decision to hold a full-

length press conference crossed a line and damaged the 

majesty of his office.

Select the most appropriate option to fill in blank no 4.

1. Economical

2. Reciprocal

3. Rhetorical

4. Critical

5. Logical
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In the presser, Mr. Khan lashed out at CPI(M) functionaries 

and ___(5)___ some of their actions as being anti-national, 

nepotism, and anti-social. 

Select the most appropriate option to fill in blank no 5.

1. Tangled

2. Labeled

3. Skilled

4. Compelled

5. Struggled
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As an unelected appointee of the Centre, a Governor of a 

State is expected to ___(6)___ the popular mandate of the 

elected government. 

Select the most appropriate option to fill in blank no 6.

1. Depreciate

2. Associate

3. Appreciate

4. Annunciate

5. Dissociate
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By going public with his views, Mr. Khan has ___(7)___ a 

situation that should have been avoided. 

Select the most appropriate option to fill in blank no 7.

1. Resuscitated

2. Imitated

3. Agitated

4. Precipitated

5. Violated
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The CPI(M) and other parties in the ruling Left Democratic 

Front (LDF), led by Mr. Vijayan have ___(8)___ the 

Governor’s feelings, making the exchange a nasty episode. 

Select the most appropriate option to fill in blank no 8.

1. Reciprocated

2. Vindicated

3. Abdicated

4. Dedicated

5. Complicated
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Among other things, representatives of the ruling front have 

called Mr. Khan an ___(9)___ agent of the Rashtriya

Swayamsevak Sangh (RSS). 

Select the most appropriate option to fill in blank no 9.

1. Unchallenged

2. Unhinged

3. Unprivileged

4. Undamaged

5. Unengaged
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Mr. Khan could have raised his concerns, however valid as 

he might deem them to be, with Mr. Vijayan rather than 

triggering a completely avoidable public ___(10)___. 

Select the most appropriate option to fill in blank no 10.

1. Habitat

2. Retaliate

3. Format

4. Retreat

5. Spat
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In this question, a sentence has been divided into four parts (A), (B), 

(C) and (D). Read the sentence to find out whether there is any 

grammatical error in it. The error if any, will be in one part of the 

sentence. Mark that part as your answer. If there is no error, the 

answer is ‘No error’. Ignore the error of punctuation if any. 
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Alberto took one look (A)/ at his new neighbours (B)/ 

and knew that his life (C)/ was going to get more 

difficult.(D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error
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I had a friend (A)/ who is afraid of spiders (B)/ and this is 

not unusual (C)/ as a lot of other people have the same 

fear.(D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error
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Citizens and communities across the world (A)/ have 

responded well  (B)/ to the propose rehabilitation and 

reconstruction program (C)/ for flood victims.(D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error
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THANK 
YOU

PREVIOUS YEAR – PAPER 20


